2009 - P4 - SC - SA2 — Nan Chiau

Founded 1947

2N

NAN CHIAU PRIMARY SCHOOL
Semestral Assessment 2
2009

Science Booklet A | Section A ;0
Primary Four Section B T ._40
Name: ( ) Total -1.00
Class: Pra_ Duration {Booklets A & B) 1 h 45 min
Date: 5 Nov 2009 Parent's Signature::

Instructions to Pupils:

1. Do NOT open this baoklet untii you are told to do so.
2. Follow all instructions carefully.
3. Answer all questions.

*This paper consists of 16 pages altogether.
(excluding this page) '
Setter: Mrs Jessy Low



2009 - P4 - SC - SA2 — Nan Chiau

Section A {30 x 2 marks}
For each question from 1 to 30, four options are given. One of them is the

1. Study the table below.

| Matter Non Matter
] Air Heat
Book _Sunfight
X Y
- Which one of the following pairs of items best represents X and Y
~ fespectively? -
(1)  Fire and wine
(2} Water and sand
(3)  Wind and shadow
(4} Oxygen and sponge

2. Peter placed 2 obj
balance tilted dow

Based on the above, Peter can condude that

(D
(2)
(3)
(4)

ects of the same size and shape on a balance. The
nwards to one side as shown below.

* Object A

Objects A and B are

made of different maférials

Object A has mass while Object B does not
Objects A and B occupy different amount of space

Object B can be com

pressed but Object A cannot



3.
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Study the flowchart below.
Materials JIsit Yes | Doesitsinkin | No _
' hard? ' water? o
Yes
No ER
Y
- ¥ _
Does it break easily No )
when dropped? " X
Yes
A 4
w
What colld X and Y be?
X Y
A Sponge 50-cent coin -
B: __Wooden ruler Cork-
C: : Glass Handkerchief
D: " Handkerchief Brick -

(1) Aonly

(2) AandD only
(3} BandC only
{4} B,CandDonly
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4. Andy placed objects A and B into a beaker of water as shown below. He
observed the difference in water fevel as the objects were put into the
water, . - '

85mi

70ml =

T water

Based on the experiment, Andy can conclude that both solids (A and B)
and liquid - :

A:  have the same volume

. B:  have definite volume
C:  occupy space
D:  have mass

(1)  AandC only

(2) BandC only _ C
3) BandD only ' o

4) A CandD only

5. The adult cockroach and nymph are different in that

A:  they do not feed on the same type of food~

B:  the nymph is smaller than the aduit cockroach/

C:  the nymph has wings but the adult cockroach does not”"
D:  the aduit cockroach can reproduce but the nymph canngt”

(1) AandB only
(2) BandD only
{3) A BandC only
4) A CandD only
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6. Charmaine made some statements about the plant shown below.

Which of the following statement(s) she made was/were correct?

A: It can make food.
B: It cannot move on its own. :
C:lthasa stem to transport water from the roots. -

(1) Aonly

{20 Conly

{3) AandC only
4) A BandC

7. Study the diagrams below.

f
glass glass

Fish tank _ Window pane

Which of the following properties of glass isfare important in the making of
fish tanks and window panes?

A:  Easily breakable”
B: Strong/ ‘

C:.  Transparent

D: . Waterproof/

(1) AandDonly
(2) BandConly
(3) B, CandD only
4 AB CandD
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Which one of the following statements is not a function of the skeletal
system? : :

(1) it supports our body.

(2) Itgives shape to our body. -
(3) It protects some of our organs.
(4) It heips us to digest our food.

Helen carried out an experiment as shown below. She found that the ice

at the bottom of the test tube did not melt even though the water at the
surface was boiling.

Boiling water

lce wrapped
with_wire
[ S/ gauze

What does this experiment show?

(1)  Heat does not travel downwards.

(2) Water is a poor conductor of heat.

(3) The candle flame is not strong enough.

(4) The wire gauze is a poor condictor of heat.

The diagram below shows a a metal ball being heated by' a gas burner.

- Metat ball

Gas burner

When the metal ball is heated,

A:  itexpand
B: its mass increase

C:  its temperature fises

D:  itloses heat to the surrounding~

(1) AandcC only
(2} BandConly
(3} A, BandD only
4) A B CandD
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11.  Lee Ling pressed a piece of cotton wool onto the bottom of the cup and
pushed the inverted cup into the basin of water. .

Cotton woo!

Basin

water

— — -\_—-—— ] Inverted

From the experiment, Lee Ling recorded her observation and conclusion.
Which of the following are the correct observation and condusion made by

Lee Ling?
Observation Conclusion
(1) | The cotton wool was wet Water takes up space
(2) |The cotton woolwasdry | Air occupies space
(3) | The cotton wool was wet | Water has mass
- (4} [ The cofton wool was dry - { Air has mass

12. An empty round-bottomed flask was heated over a gas burner. The
stopper popped out after a while. '

stopper

gas burner

Why did the stopper pop out?

(1)  The stopper expanded and popped out..

(2) The air inside the empty flask expanded and pushed the stopper out..
(3)  The air inside the empty flask contracted and pushed the stopper out.
(4)  The mouth of the flask contracted and pushed the stopper out.
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13.

14.

A ball was placed in the middie of two magnets as shown below.

N  sp— ~— I[N s

When both magnets were moved towards the ball, the bail was attracted
to both the magnets.

N sm'ﬂ' s
A

. What could the ball be made of?

{1) lron
(2) Wood
(3) Plastic

(4)  Aluminum

Study the classification table below.

r Group A Group B I
Silk dress Cotton shirt )
Woollen sweater Tyre

Which one of the following objects would you place in Group A?

(1) Magazine

{2) Plastic ruler
{3) Glass bottle
(4) Leather wallet

"\\
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15. Which of the foliowing correctly matches the object to the shadows cast?

(1)
(2
(3)
4

‘Object and direction of light

 Shadow on the
_Screen

light

. ' Screen

—— Screen
————

-]

— - Screan
—— .
—_—

— Screen

>
.
v |

A and B only
B and C only
A, B and D only
A, Cand D only
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16.  Which of the following shows the possible arrangement of the magnets?

(1 - | @ . |
1 N Y

(3) “)

17. Which of the followin
temporary magnet?

(1)

g diagrams shows the correct method of making a

%4 T i
s N
4 }
-I
| ‘/
(3) :f 4 v '
R -_——

|
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18.  Aglass of hot water with a temperature of 60°C was left on the table. The

room temperature was about 30°C. .

Which of the following graphs correctly shows the changes in the
temperature of watér as it was left on the table overnight? '

M @
Temperature (°C) - Temperature (°C)
60 —— 60—\ '
_ 30 —— 30
- Time —*

@) Temperature ¢C) @ Temperature ('c)
& . - F 3

60 60—

30 —— 30—

-

ﬁ LI R P PRy
3

10

\ 4

—# Time

Time

5, \,__
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19.

20.

Alex had 4 different magnets, A, B, C and D. He held the magnets one at
a time at the same height above a tray of paper clips as shown below.

— Magnet

Paper dlip

._&!J——f( S0 S . m

He then recorded down the number of paper dlips each magﬁet attracted

in the table befow:

Number of paper clips attrac

Magnet
A

B

C

D

BRI

Which of the magnet is the strongest?

(1
(2)
(3)
4)

A

B
C
D

A beaker of ice was left on the table. After a while the ice started to meit.
Which statement below describes what took place in the process of
melting?

(D
(2)
3)
4

The ice lost heat and melted.

The ice gained heat and melted.

The beaker gained heat and melted the ice.

The surrounding gained heat and meilted the ice.

11
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21. Four conical flasks were placed into four basins of hot water. The water in
each basin was at different temperatures. Which basin of water had the
highest temperature?

22.  Sam brought the north pole of Magnet A near four objects (W, X, Y and
Z). He then repeated the experiment by bringing the south pole of
Magnet A near the four objects. ' '

'

The table below shows the results of his experiment.

Object Attracted to Magnet A | Repelled by Magnet A
w Yes B No
L X Yes Yes
Y No No ]
4 No No

Based on the above, Object(s) is/are magnet(s).

{1} Wonly

(2) Xonly

(3) Wand Xonly
(4) YandZonly

12
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23. X, YandZ fepresent the three states of matter,

X v -z
Definite Definite No definite’
volume, volume, volume,
Definite No definite No definite

shape ~ shape shape

The changes in the state of water are shown below.

- water —— joe —* water —» steam .

Which of the following correctly represents the changes in the state of
water as shown above?

() X—=+Y—>X—»z
@ z—o>Yy-—w+z7-x
3 X—=*>y-—>z_,7

@ YaX—+y_y

miror——f=——7 (2) gf_—.'j‘ eraser D @)

(1) ” ‘ H 3)

hollow tube J }x

13
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QUESTION 25

25.

Study the diagram below.

T

torch

Object X

: \scre’en

When the torch is switched on, the following was seen on the screen.

F

- screen

Which of the following would parts, D, E and F, most fikely. be?

Part D - Part£ PartF
(1) - Clear Plastic Cardboard Tracing Paper
(2 Cardboard Frosted Glass Clear Plastic
(3) _Tracing paper Clear Piastic Cardboard
{4) - Cardboard Clear Plastic Tracing paper
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26.  Gina had ttiree sheets of materials, P, Q and R. She noticed that when
she placed the ball at the end of the three sheets, she could not see the
ball. However, when she placed the ball in between sheets P and Q, she
could see the ball clearly. : : :

A ®

SheetP  SheetQ Sheet R

Based on the above, which of the following most likely describes materials

P, Qand R?

- P Q R
(1) Opaque Transparent Not possible to teli
{2) Opaque Opaque Transparent
(3) |__ Transparent Not possible to teil Opaque
(4) | Not possible to tell Transparent Transparent

"27.  Which of the following is a good conductor of heat?

{1) Ceramic cup

(2) Plastic spoon

(3) Stainless steel fork
(4} Wooden chopstick

"~ 28.  PartA helps to read the temperatyre. It when heated.

(1) contracts
(2) evaporates
(3) expands
4) melts

15
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29. Jimmy divides his bar magnet into four parts and records the number
of paper clips each part attracts in the table below.

Parts of a magnet A B C D
Number of paper clips '

each part attracts 10 9 4 2
Based on the table, the two poles of the bar magnet are most likely to be
at .

{1) AandB

(2 AandD

(3) BandC

(4 CandD

30. Three blobs of wax, A, B and C, were placed on different parts of a metal B
plate shown below.

)

Blob C meited, followed by Blob B and then ﬁnally Blob A Where was the
source of heat on the metal piate?

~~~ End of Seclion A ~~~~~

16
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Section B: {40 marks)

For question 31 to 44, write your answers in the space prdvided.

31

(a)
®)
(c)
@

The diagram shows the skeleton of an animal.

For each of the statements beiow, dec:de lf itis "True” or “False” or
*Not Posstbie to Telt” ang t(ck*(\l ) iy ﬁxe cHrrect celumn provided:

N

- Statements

True

False

" Not
Possible

_toTell

The animat has a tail.

The animal is a mammal.

The animal does not have a ribcage.

The animal gives birth to young alive.

(2m)
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32. Wei Ming made a hole in a can of condensed milk as shown below.

. Condensed
ik

He tried pouring the mitk out but found that it fiowed out very slowly.

(a) Without opening the cén, suggest a way to allow the condensed milk to

flowout faster.
B - | (im)
(By Expfain how your suggestion in (ajwould enable the milk to flow out
faster. -
|
{(1m}

33, Danny set up the experiment below to test the conditions needed for bean
seeds to germinate.

Placed in the refrigerator | Placed in a dark room Placed next to an open
window

- Peén seed
I

I

Wet soil
Setup A

Wet soit

Setup C

{a) Danny observed that seeds germinate gedy "ih_ one setup. ldentify the
Semp. an * .

(1m)
{b) Explain why the seeds did not gemminate in the other fwo setups.

(im)
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34. Janet heated an iron block to 90°C. She then put the iron block into a

{a)

(e

basin containing water at 50°C.

—— Heated iron block

Complete the table below by stating whether there was an increase or
decrease in temperature and explain clearly what caused the change in

temperature. g{
Change in Expiain what caused the chande in
temperature temperature '
{state whether
increase or
_decrease)
Water ;
;.)
{ron block

o

ﬁ o -(-3m) !
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35. Jenny was given two magnets, X and Y, a ruler, and a nickel coin. She
discovered that Magnet X was able to atiract the coin when it was 4 cm
away while Magnet Y could attract the same coin when it was 7 cm away.

MagnetX | . |
HEEENENENE
R ~ 10cm
MagnetY |- . .
__ HEEREERERN
- _ 0 : 10cm
(a)'- Whi_ch- magnet, X or Y is stronger? _: h
= m)
(ﬁ*}, IExplain your answer in (a).
i “am
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36(a) Luke piaced a metal cube into a glass beaker and it fitted into the glass
beaker tightly, as shown in Diagram A. He then heated the glass beaker
over a strong ﬁame as shown in Dzagram B.

Metal :

1 G!ass

[ — Beakers

~ Diagram A ‘Diagram B

The glass beaker cracked after being heated for 15 minutes. What is
the reason for this?

(im)

36(b) Luke hung a tennis ball on a metal wire in the school field.

metal wire

C &

cotton string '
pole

- S 7Y - “Teanis batr

} o &

.Y __ U
He observed that after two hours in the hot sun, the metal wire

+ became longer and the fennis ball was lowered. If a cotton fope was
used instead of the metal wire, would his observations be the same?
Give the reason for your answer. -

(1m)
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37. Xavier carried out the following expeﬁrﬁent. He observed that the metal

clip appears to *fioat in the air”. His teacher told him that the metal clip
appears to “float in the air” as it was attracted by the magnet.

i

{a) What would happen to the metal clip if Xavier placed a plastic sheet
between the magnet and metal clip?

(1m)

-

{b} Whatis the reason for your answer in (a)?

(1m)
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37(c) Xavier then conducted another experiment to find out how the strength
of a magnet is affected when it was hit by a hammer. He counted the
number of times a magnet was hit and counted how many pins it could
pick up after being hit. He plotted the resuits in the graph below.

&

5 _L
14 4 _1_
S8
sEis T
o £

1 T

5 10 15 '20 25 *Number of hits

. e :
) Complete the graph above to show the number of pins aftracted when
Xavier hits the magnet 20 times. {imy}

(ii) What is the relationship between the strength of the magnet and the
. - .umber of times the magnet was hit?

I(1rn}
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38. Jun Kai sets up an experiment using three rods, P, Q and R. The rods are
made of iron, glass and clay. The three rods were placed on a hot metaj
plate. The wax on Rod Q meited and dripped off first followed by Rod R
and finallyRod P. = -

Wax

Hot metal — ']
. plate _
~ ' Rod P Rod Q RodR

(a) Which materiat is Rod Q made of?

- (tm)

(b} Explain );our answer in (a).

(1m)

() For the experiment to be a fair test, which of the foliowing variables -

has/have to be kept the same? Put a tick (V) next to the variable(s) that

“

- .--hasihave to.pe kept the same. : -+ ;

| ’ Length of the rod
| l Size of the wax
] Material of the rod

I Colour of the rod

(tm)
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39. Study the diagram below carefully. The lever balance has a weight tied to
one end while the other end is tied to an iron rod.

iever balance )
[}
weight
retort stand
(@) What would happen to the lever balance when the switch is closed?
(1m}
(b) Explain your answer in {a)
i)

) (c} What would happen to the lever balance if the iron rod is replaced with a
. . Copper _rogl? Giye_ the reason for your answer.

(1m)
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40. Abei was cycling along the track at night. There were lamﬁs along the
track to help Abel see well. He noticed that the length of his shadow
changes as$ he cycles from A to B.

/ﬁﬁ lamp

(3) What was the light source?

(1m)
"'(b) "Describe how the shadow changes from Ato 8.
o ~ (4m
R () Explain how shadows-are formed:" + -
St gy @ . i o FENANS . - _-_' PR :.'
. l-
2m)
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41.  John entered a room which was dark except for the light from a street
tamp coming through a smafl opened window.,

—

(@  Johnwas able to see the pot of plant. Explain how he was able fo do _
SO,

(1m)
(6)  Onthe diagram above, use arrows to show the path of light that enabled
John see the plant.
) (tm)

{c) Study the diagram below.

shadow

object

Using the same light source and object, suggest two ways to form a
bigger shadow.

(¥

———

i)

11
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42. The beakers below contain water from three different sources, tap water,
muddy pond water and rain water. ' '

' Béaker S Beaker T

- Using a datalogger, Jim measured the light intenéity reading of the 3
- beakers of water and plotted the graphs below.

- 500
5 400 “WWWA
S
€230
:OJ . - _B.l—
£ 200 _W
< _
100 T : - :
_‘MW—WM/L:C
° ' ' S .
Time (min)

) {a} Which line graph would most likely represent the water from the muddy
pond?

(1m)

(b) Explain your answer in (a). -

(im;

{c} There were few plants growing in the muddy pond. What was the reason
for this? ' ' - -

. - .
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43.  Study the classification chart below.

Matter
| ]
Can be seen Cannot be seen
i ]
. ' No Definite
Definite No Definite "
shape shape shape
— . I
Definite No Definite Definite No Definite Definite No Definite
Volume Volume Volume Volume Volume |- Volume -
A B c . D E. F
(a)  What are the characteristics of B? -

(1m)

-

(6)  Cand F are both matter. State another similar characteristic of C and F.
/

e

(1m)

(c} Using the classification chart above, write  down the fetter that
© . ‘represents the-following: :

Air:

Coffee:

(im)

13
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44.  Mrs Goh set up the experiment shown below to find out which container
is the best conductor of heat. She placed 500g of similar size ice cubes
into four containers, A, B, C and D, which were made of different
materials. The containers were of the same size and thickness.

71 fid

ice

Styrofoam

Plastic

After 30 minutes, she took out the remaining ice cubes and measured
the amount of water in each contalner

(@) From which container would she get the most amount of water?

L, —_

- {(tm).
(b)  Explain your an§wer in {(a).

2m)

~~—End of Section B8~~~
14
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31)a)T b)Not c)F d)Not

32)a)He can make more holes on the can.
b)The air can enter the can through the first hole to occupy the space in
the can, pushing milk out through the second hole.

33)a)Setup C.
b)Setup A do not have warmth while B do not have water.

34)a)increase->Water gained heat from the iron water.
b)decrease->Iron block lost heat to the water.

35)a)magnet Y. "
b)Y can attract the coin at the further distance.

36)a)The metal will expand faster than the glass beaker.
b)No. Cotton is a poor conductor of heat, the rope will not expand as much
and the ball will only be lowered slightly.

37)a)The metal clip will also “float in the air”.

b)The plastic sheet is a non-magnetic object and magnetic force can pass
through it.

c)i)

Atliacied
. k |"_‘i"_ r.. _'r »

-

Sautlibiel Ol [ary

ﬂDQ e o ot

/s
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37)ii)The more hits on the magnet the weak the magnet.

38)a)lron.
b)Rod Q took the shortest time to melt the wax.
- C)Length of the rod. Size of the wax.

39)a)The lever balance will tiit down wards the iron rod.

b)The iron become an electromagnet when the switch closed and pulls
towards the iron block.

c)The lever will remain balanced.

40)a)lLight.

b)At A the shadow is shorter as compared to the shadow at B which is
longer. -
c)Light travel in straight line and when the light is block by an object the
shadow will formed.

41)a)The light from the lamp fell on the plant and is reflected to John’s eyes.
b)

e

Strael

[

c)i)Move the object nearer to the light source. "
ii)Move the light source nearer to the object. -

42)a)Line graph C.

b)The reading for Group C is the largest showing that, the amount of light
passing through was the least.

c)very little liquid passes through the muddy water so plant cannot make
its own food.

43)a)It can be seen have definite shape and no definite volume.
b)They both has no definite shape.
C)Air: F Coffee: C

44)a)Seed.

b)Steed is the best conductor of hest hence it can transfer heat from the
surrounding to the ice cubes the faster test.
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